
Ict3-M-2 

Jiří Cihlář 

A-1 

Zapiš body A, B, C, D, E, F, G, H, I, J,  pomocí jejich souřadnic  v pravoúhlé soustavě souřadnice Oxy. 

 

 

A-1 

Zapiš body A, B, C, D, E, F, G, H, I, J,  pomocí jejich souřadnic  v pravoúhlé soustavě souřadnice Oxy. 

 



Ict3-M-2 

Jiří Cihlář 

B-1 

Zapiš body A, B, C, D, E, F, G, H, I, J, pomocí jejich souřadnic  v pravoúhlé soustavě souřadnice Oxy. 

 

 

B-1 

Zapiš body A, B, C, D, E, F, G, H, I, J,  pomocí jejich souřadnic  v pravoúhlé soustavě souřadnice Oxy. 

 



Ict3-M-2 

Jiří Cihlář 

ŘEŠENÍ 

A-1 

Zapiš body A, B, C, D, E, F, G, H, I, J,  pomocí jejich souřadnic  v pravoúhlé soustavě souřadnice Oxy. 

A [-8;-3], B[6;7], C[-1;11], D[-6;-8], E[3;8], F[10;3], G[8;9], H[12;4], I[2;-4], J[0;6] 

 

B-1 

Zapiš body A, B, C, D, E, F, G, H, I, J, pomocí jejich souřadnic  v pravoúhlé soustavě souřadnice Oxy. 

A [-12;-6], B[6;7], C[5;-8], D[-2;-3], E[2;6], F[9;3], G[13;13], H[3;3], I[2;-4], J[0;-1] 

 


